
kein Übertrag

Sonderfälle

ein Übertrag

zwei Überträge

keine Null unterschiedliche
Stellenzahl

Null im ErgebnisNull in den gege-
benen Zahlen

Diagnosebogen-Subtraktion 

3
1
9
2

4
3

6
1

7
5-

8
2
9
5

3
2

1
7

7
4-

7
3
5
2

7
6

3
1

8
8-

06
03
8
1

2
0

7
2

0
0-

45
2
6
1

2
1

3
2

7
4-

48
12
0
5

3
0

0
4

7
3-

24
2
7
7

1
1

3
3

8
8-

76
23
0
3

8
1

9
0

5
4-

27
12
8
9

4
1

5
5

6
4-

49 5
8

8
2

6
4

3
1-

8 1
4

5
8

3
1

9
6-

25
11
4
5

7
2

6
8

8
7-

1
53
7
4

3
0

9
9

5
5-

4
2
2
7

7
5

1
8

8
2-

6
6
7
7

2
3

5
1

3
4-

3 0
7

0
7

0
7

0
7-

C  www.eurodidact.de


